



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

B.S (Computer Science) 6th Semester, Section C, Morning, Session Autumn 2025

Registration #	Name	CSC 210-7					CSC 503					CSC.305					CSC204					CSC311-8					CSC322-1				
		Linear Algebra					Artificial Intelligence					Introduction to Software Engineering					Theory of Automata & Formal Languages					Web Programming					Compiler Construction				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS Aut-2022-E-B-0283	Nadeem Shahzad	71	B	3.0	3	9.0	30	F	-	4	-	-	-	-	-	-	-	-	-	-	56	C	2.0	3	6.0	11	F	-	3	-	
B.S CS Aut-2022-M-C-0143	Amoon Mooras	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2022-M-C-0150	Huzaiifa Ahmed Khan (Withheld due	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2022-M-C-0182	Wasif Ikhlas Khan	-	-	-	-	-	57	C	2.0	4	8.0	93	A	4.0	3	12.0	65	C+	2.5	3	7.5	89	A	4.0	3	12.0	30	F	-	3	-
B.S CS SP-2022-E-A-0182	Adnan UI Mulk	-	-	-	-	-	33	F	-	4	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-B-0085	Muhammad Naeem	-	-	-	-	-	56	C	2.0	4	8.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-B-0090	Muhammad Zakki	-	-	-	-	-	35	F	-	4	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-B-0098	Sabir Ali Jan (Withheld due to Fee	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-A-0050	Shazil Nasir	-	-	-	-	-	53	D	1.5	4	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-C-0131	Abdul Sami Raja (Withheld due to F	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-C-0133	Ahmed Saeed Khan Baloch	-	-	-	-	-	41	F	-	4	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-C-0135	Ainiyah Tahir	-	-	-	-	-	75	B+	3.5	4	14.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-C-0136	Ali Abdullah	-	-	-	-	-	53	D	1.5	4	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-C-0137	Ali Arslan	-	-	-	-	-	75	B+	3.5	4	14.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-C-0140	Aqsa Sheraz	-	-	-	-	-	53	D	1.5	4	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-C-0144	Danial Ayub	-	-	-	-	-	38	F	-	4	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-C-0145	Faizan Ashraf	-	-	-	-	-	40	F	-	4	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-C-0149	Kalim Ullah	-	-	-	-	-	53	F	-	4	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-C-0153	Muhammad Jamal	-	-	-	-	-	50	D	1.5	4	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-C-0155	Muhammad Saqlain Mushtaq	-	-	-	-	-	53	D	1.5	4	6.0	74	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-C-0156	Muhammad Talha	-	-	-	-	-	36	F	-	4	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-C-0157	Muhammad Umair Anjum	-	-	-	-	-	51	D	1.5	4	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-C-0164	Sayyed Wahaj Jan	-	-	-	-	-	51	D	1.5	4	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-C-0166	Shaheen Abbas	-	-	-	-	-	51	D	1.5	4	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-C-0167	Muhammad Shahid Mukhtar	-	-	-	-	-	55	C	2.0	4	8.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-C-0168	Shoaib Zulfiqar	-	-	-	-	-	53	D	1.5	4	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-C-0172	Syed Mussa Ali Shah	-	-	-	-	-	75	B+	3.5	4	14.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-C-0174	Syed Raheel Ahmed Shah	-	-	-	-	-	65	C+	2.5	4	10.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-C-0176	Tasbeeha Talat	-	-	-	-	-	70	B	3.0	4	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

B.S (Computer Science) 6th Semester, Section C, Morning, Session Autumn 2025

		CSC-502					CSC505					CSS301					HUM201					MTH401					SSC303				
		Design & Analysis of Algorithms					Numerical and Symbolic Computing					Multi-Variate Calculus					Technical & Business Writing					Differential Equations					Operating Systems				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS Aut-2022-E-B-0283	Nadeem Shahzad	-	-	-	-	52	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2022-M-C-0143	Amoon Mooras	-	-	-	-	51	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	
B.S CS Aut-2022-M-C-0150	Huzaiifa Ahmed Khan (Withheld due	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2022-M-C-0182	Wasif Ikhlas Khan	-	-	-	-	85	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-E-A-0182	Adnan UI Mulk	-	-	-	-	84	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-B-0085	Muhammad Naeem	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	70	B	3.0	4	12.0	
B.S CS SP-2022-M-B-0090	Muhammad Zakki	-	-	-	-	85	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	66	C+	2.5	4	10.0	
B.S CS SP-2022-M-B-0098	Sabir Ali Jan (Withheld due to Fee	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-A-0050	Shazil Nasir	-	-	-	-	93	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-C-0131	Abdul Sami Raja (Withheld due to F	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-C-0133	Ahmed Saeed Khan Baloch	-	-	-	-	93	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-C-0135	Ainiyah Tahir	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-C-0136	Ali Abdullah	-	-	-	-	57	C	2.0	3	6.0	29	F	-	3	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-C-0137	Ali Arslan	-	-	-	-	82	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-C-0140	Aqsa Sheraz	-	-	-	-	77	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-C-0144	Danial Ayub	-	-	-	-	77	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-C-0145	Faizan Ashraf	-	-	-	-	85	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-C-0149	Kalim Ullah	-	-	-	-	99	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-C-0153	Muhammad Jamal	-	-	-	-	98	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-C-0155	Muhammad Saqlain Mushtaq	-	-	-	-	68	C+	2.5	3	7.5	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-C-0156	Muhammad Talha	-	-	-	-	84	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-C-0157	Muhammad Umair Anjum	-	-	-	-	77	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-C-0164	Sayyed Wahaj Jan	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-C-0166	Shaheen Abbas	-	-	-	-	57	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-C-0167	Muhammad Shahid Mukhtar	-	-	-	-	93	A	4.0	3	12.0	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-C-0168	Shoaib Zulfiqar	-	-	-	-	98	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-C-0172	Syed Mussa Ali Shah	-	-	-	-	94	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-C-0174	Syed Raheel Ahmed Shah	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-C-0176	Tasbeeha Talat	-	-	-	-	86	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

B.S (Computer Science) 6th Semester, Section C, Morning, Session Autumn 2025

		SSE502					SSE505					
		Data Mining					Object Oriented Software Engineering					
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	
B.S CS Aut-2022-E-B-0283	Nadeem Shahzad	-	-	-	-	-	82	A	4.0	3	12.0	
B.S CS Aut-2022-M-C-0143	Amoon Mooras	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2022-M-C-0150	Huzaifa Ahmed Khan (Withheld due	-	-	-	-	-						
B.S CS Aut-2022-M-C-0182	Wasif Ikhlas Khan	-	-	-	-	-	70	B	3.0	3	9.0	
B.S CS SP-2022-E-A-0182	Adnan UI Mulk	-	-	-	-	-	66	C+	2.5	3	7.5	
B.S CS SP-2022-M-B-0085	Muhammad Naeem	-	-	-	-	-	67	C+	2.5	3	7.5	
B.S CS SP-2022-M-B-0090	Muhammad Zakki	70	B	3.0	3	9.0	58	C	2.0	3	6.0	
B.S CS SP-2022-M-B-0098	Sabir Ali Jan (Withheld due to Fee	-	-	-	-	-						
B.S CS SP-2023-M-A-0050	Shazil Nasir	-	-	-	-	-	70	B	3.0	3	9.0	
B.S CS SP-2023-M-C-0131	Abdul Sami Raja (Withheld due to F	-	-	-	-	-						
B.S CS SP-2023-M-C-0133	Ahmed Saeed Khan Baloch	-	-	-	-	-	92	A	4.0	3	12.0	
B.S CS SP-2023-M-C-0135	Ainiyah Tahir	-	-	-	-	-	86	A	4.0	3	12.0	
B.S CS SP-2023-M-C-0136	Ali Abdullah	-	-	-	-	-	83	A	4.0	3	12.0	
B.S CS SP-2023-M-C-0137	Ali Arslan	-	-	-	-	-	75	B+	3.5	3	10.5	
B.S CS SP-2023-M-C-0140	Aqsa Sheraz	-	-	-	-	-	75	B+	3.5	3	10.5	
B.S CS SP-2023-M-C-0144	Danial Ayub	-	-	-	-	-	70	B	3.0	3	9.0	
B.S CS SP-2023-M-C-0145	Faizan Ashraf	-	-	-	-	-	72	B	3.0	3	9.0	
B.S CS SP-2023-M-C-0149	Kalim Ullah	-	-	-	-	-	65	C+	2.5	3	7.5	
B.S CS SP-2023-M-C-0153	Muhammad Jamal	-	-	-	-	-	80	A	4.0	3	12.0	
B.S CS SP-2023-M-C-0155	Muhammad Saqlain Mushtaq	-	-	-	-	-	70	B	3.0	3	9.0	
B.S CS SP-2023-M-C-0156	Muhammad Talha	-	-	-	-	-	75	B+	3.5	3	10.5	
B.S CS SP-2023-M-C-0157	Muhammad Umair Anjum	-	-	-	-	-	85	A	4.0	3	12.0	
B.S CS SP-2023-M-C-0164	Sayyed Wahaj Jan	-	-	-	-	-	65	C+	2.5	3	7.5	
B.S CS SP-2023-M-C-0166	Shaheen Abbas	-	-	-	-	-	81	A	4.0	3	12.0	
B.S CS SP-2023-M-C-0167	Muhammad Shahid Mukhtar	-	-	-	-	-	70	B	3.0	3	9.0	
B.S CS SP-2023-M-C-0168	Shoaib Zulfiqar	-	-	-	-	-	80	A	4.0	3	12.0	
B.S CS SP-2023-M-C-0172	Syed Mussa Ali Shah	-	-	-	-	-	60	C	2.0	3	6.0	
B.S CS SP-2023-M-C-0174	Syed Raheel Ahmed Shah	-	-	-	-	-	81	A	4.0	3	12.0	
B.S CS SP-2023-M-C-0176	Tasbeeha Talat	-	-	-	-	-	90	A	4.0	3	12.0	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

B.S (Computer Science) 6th Semester, Section C, Morning, Session Autumn 2025

Registration #	Name	CSC 210-7					CSC 503					CSC.305					CSC204					CSC311-8					CSC322-1				
		Linear Algebra					Artificial Intelligence					Introduction to Software Engineering					Theory of Automata & Formal Languages					Web Programming					Compiler Construction				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS SP-2023-M-C-0177	Umer Shabraz	-	-	-	-	38	F	-	4	-	-	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	67	C+	2.5	3	7.5	
B.S CS SP-2023-M-C-0179	Usama Shahzad	-	-	-	-	57	C	2.0	4	8.0	-	-	-	-	-	-	-	-	-	-	81	A	4.0	3	12.0	86	A	4.0	3	12.0	
B.S CS SP-2023-M-C-0180	Zain UI Abideen	-	-	-	-	27	F	-	4	-	61	C	2.0	3	6.0	-	-	-	-	-	52	D	1.5	3	4.5	76	B+	3.5	3	10.5	

CC: 1. Incharge Islamabad Campus, 2. Controller of Exams, Karachi, 3. HOD, 4. Accounts Section, 5. Office File, 6. Notice Board

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

B.S (Computer Science) 6th Semester, Section C, Morning, Session Autumn 2025

		CSC-502					CSC505					CSS301					HUM201					MTH401					SSC303				
		Design & Analysis of Algorithms					Numerical and Symbolic Computing					Multi-Variate Calculus					Technical & Business Writing					Differential Equations					Operating Systems				
Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product		
B.S CS SP-2023-M-C-0177	Umer Shabraz	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S CS SP-2023-M-C-0179	Usama Shahzad	-	-	-	-	82	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S CS SP-2023-M-C-0180	Zain UI Abideen	74	B	3.0	3	9.0	76	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD
B.S (Computer Science) 6th Semester, Section C, Morning, Session Autumn 2025

		SSE502					SSE505				
		Data Mining					Object Oriented Software Engineering				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS SP-2023-M-C-0177	Umer Shabraz	-	-	-	-	-	61	C	2.0	3	6.0
B.S CS SP-2023-M-C-0179	Usama Shahzad	-	-	-	-	-	75	B+	3.5	3	10.5
B.S CS SP-2023-M-C-0180	Zain UI Abideen	-	-	-	-	-	75	B+	3.5	3	10.5

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026